Ratio to ATLAS

d Nth
sum E;

0.5

sum E_ [GeV]

7000 GeV pp Underlylng Event
_| | T T T T T TTT | T T T T | |_ _‘(Q
cC
Sum ET (1.6 < | < 2.4, P> 0.5(0.2) GeV, I':“ > 20 GeV, [*?] < ZJS%
= ==
= =N
[ —LO
— NI
~ _ I
= o
— u -
= n =
N s
(90)
= =R
— =M
e e 50
_______ <
-] M
—
= EE
- m  ATLAS = g
[ --3-- Herwig 7.2.0 default h =
= —a— Pythia 8.201 default ==
= ¢ Sherpa 1.4.1 default 49
%
= =R
— -1 O
| — O
n | | | | | | | | | | | | | | | | | | | I =
:l T T T T | T T T T | T T T T | T T T T |:
— —2
1
| —0.5
| 1 1 1 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 "
0 10 20 30 40



	Contents
	Page 1


